Master of Computer Applications (M.C.A.)

3" Semester

End Semester Examinations , December, 2023
Course code: MMCAS314PET: Artificial Intelligence

Total Marks: 70 Time: 3 Hours
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~— S Minimax value "
for the given state where Max =* Min=&
Max utility u= 50; Min utility u=-50; stalemate=0
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Section-B

(0iS Caliay paliie e o b S "Any three types of Intelligent Agents” .2
.S Galas S (Domain) e s3 < "Artificial Intelligence” .3

ol "8 Puzzle search tree for the given initial state to goal state - 4

Initial state: Goal State
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4usoj,,4ApplicationsLBayesian Networks J-Artificial Intelligence .6
"4t (Classification Model S £ Sl 77 .7

ol e a L " K-means Algorithm" .8
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You are given two jugs, a 4-gallon one and a 3-gallon one. Neither has any measuring mark on it.
There is a pump that can be used to fill the jugs with water. How can you get exactly 2 gallons of
water into the 4-gallon jug?
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Section-C

A 2 kS Artifiicial Intelligence .10
ond Seolos s L "Minimax Algorithm™ .11
Find the Manimax value for the given game tree by implanting the alpha-beta pruning algorithm
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